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English Language

Question No. 1
Which of the following is the second sentence of the paragraph?

Options :
l.e
2.c
3.d
4. a
5b

Answer : e

Question No. 2
Which of the following is the fourth sentence of the paragraph?

Options :
1.d
2.a
3.e
4.b
5.¢c

Answer : a

Question No. 3
Which of the following is the first sentence of the paragraph?

Options :
l.c
2.a
3.d
4. e
5.b

Answer : b
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Question No. 4
Which of the following is the fifth sentence of the paragraph?

Options :
l.c
2.d
3.e
4.b
5.a

Answer : C

Question No. 5
Which of the following is the third sentence of the paragraph?

Options :
l.e
2.¢C
3.d
4. a
5.b

Answer : d

Question No. 6

Much money was spent on the development of airports and it could be proudly said that around
98% of the money spent to implement solar panels in Cochin International Airport has been

useful.

Options :

1. mentored

2. rendered

3. vented

4. hindered

5. None of these

Answer : rendered
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Question No. 7

During a difficult period, the first thing that companies do is eliminating all positions that are not
to day-to-day operations.

Options :

1. indisputable
2. indictable

3. indispensable
4. indiscernible
5. None of these

Answer : indispensable

Question No. 8

The chief designer’s ideas are absolutely and there is no doubt that we will be

getting the deal.
Options :

1. appalling

2. stalling

3. palling

4. enthralling

5. None of these

Answer : enthralling

Question No. 9
The scheme for building a new theatre at Munich having been abandoned, there was no big opera-

house in Germany fit for so a work.

Options :

1. morsel

2. wobble

3. dorsal

4. colossal

5. None of these

Answer : colossal
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Question No. 10

| asked the laundry to take care of my clothes so that | don’t have to do chores when |
return from my vacation.

Options :

1. humane

2. complaint

3. mundane

4. restraint

5. None of these

Answer : mundane

Question No. 11

Will it be right to say that the main idea the writer wants to convey by writing this article is to
highlight that because of human activities, the river Narmada is so drained now that it is dying of
thirst itself.

Options :

1. Definitely Yes

2. Definitely No

3. Maybe

4. Data Inadequate

5. Not mentioned in the passage

Answer : Definitely. Yes

Question No. 12

Which of the following statements/facts is/are true based on this article?

(A) The area occupied by salt pans has increased by over 300% in two decades.

(B) The combined effects of dams and changing land use, increased industrialisation, and pollution,
have entirely changed the riverscape of the country

(C) Dams are the sole reason for the changing ecology in the river beds and the creeks
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Options :

1. Only (A)

2. Only (B)

3. Only (B) & (C)
4. Only (A) & (B)
5. None of these

Answer : Only (A) & (B)

Question No. 13
What according to you, would be the most suitable title for the passage?
Options :

1. The Thirsty River

2. The Sea’s Inward March

3. Dams-a Boon or a Bane

4. The River that lost its way

5. Human encroachment in the river

Answer : Dams-a Boon or a Bane

Question No. 14
According to you the writing style of this passage can best be categorized as:
Options :

1. Analytical
2. Critical

3. Descriptive
4. Cavilling

5. Derogatory

Answer : Critical

\Va}
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Question No. 15

As per this article which activity could become a major economic activity in the years to come, near
the River Narmada-Sea Basin?

Options :

1. Fishing

2. Salt Pans

3. Borewell Industries

4. All of these

5. None of these

Answer : Salt Pans

Question No. 16

As per this passage what are the ways in which the natural course of river meeting into the sea
helps the ecology?

(A) This process reduces the water shortage in the areas surrounding the coastline which helps the
nearby industries and immediate inhabitants

(B) This process nourishes the rich marine and coastal ecologies which is beneficial for the coastal
communities

(C) This process helps by bringing nutrient-rich sediments to the sea and maintains the salinity
gradient of the coastline

Options :

1. Only (A)
2. Only (B)
3.0nly (B) & (C)
4. Only (A) & (C)
5. None of these

Answer : Only (B) & (C)
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Question No. 17

Choose the word/group of words which is most similar in meaning to the word/group of
words printed in bold as used in passage.

SPOUT

Options :

1. Halt

2. Shrivel

3. Shrink

4. Gush

5. None of these

Answer : Gush

Question No. 18

Choose the word/group of words which is most similar in meaning to the word/group of
words printed in bold as used in passage.

ACCRETION

Options :

1. Abatement

2. Accumulation

3. Diminution

4. Deduction

5. None of these

Answer : Accumulation

8 ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams
For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




- o
: IXam
FCI Manager 2019 Previous Year Paper

Question No. 19

Choose the word/group of words which is most opposite in meaning to the word/group of
words printed in bold as used in passage.

SHORT-CHANGE

Options :

1. Sting

2. Fleece

3. Wrench

4. Squeeze

5. None of these

Answer : None of these

Question No. 20

Choose the word/group of words which is most opposite in meaning to the word/group of
words printed in bold as used in passage.

ETERNAL

Options :

1. Perpetual

2. Permanent

3. Stubborn

4. Mortal

5. None of these

Answer : Mortal
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Question No. 21
India turned in China's invite to attend Belt and Road Initiative meet for the second time.

Options :

1. turned over

2. turned down

3. turned up

4. turned on

5. No correction required

Answer : turned down

Question No. 22

China has taken to including parts of India in their maps and encroaching those areas, claiming it
theirs.

Options :

1. taken after

2. taken down

3. takenin

4. taken off

5. No correction required

Answer : No correction required

Question No. 23

The CEO promoted the manager to make for embarrassing him in public, without trying to
understand the whole truth.

Options :

. make up for
. make up
. make off

. make out

gaa b~ W N

. No correction required

Answer : make up for
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Question No. 24

A crude example of a parameter (A)/ that would factor in costs and revenues (B)/ both are the
share of a weighted average of (C)/ revenues and costs that would-be operators (D)/ have to pay
the government (E).

Options :

1.C

2.D

3.A

4.B

5. No Error

Answer : C

Question No. 25

If an airport operator takes up (A)/ an airport by offering to pay the government (B)/ an exaggerated
amount, (C)/ it would win the auction, and then (D)/ squeeze extra revenues from passengers and
airlines (E).

Options :

1A

2.B

3.C

4. E

5. No Error

Answer : A
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Question No. 26

In any case, the government has to discontinue (A)/ with the bidding system that allowed (B)/ one
bidder to win all the six airports (C)/ on offer offering unrealistically high fees (D)/ per passenger to
the government (E).

Options :

1.A

2.D

3.E

4.C

5. No error

Question No. 27

The industry experts attributed the downturn in spending (A)/ on celebs to the lockdown, backlash
against Chinese brands (B)/ and their endorsements by extension (C)/ and the controversy thats
erupted over (D)/ the suicide of actor Sushant Singh Rajput (E).

Options :

1.E

2.D

3.C

4. A

5. No Error

c%
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Question No. 28

Increased apprehension between consumers (A)/ during the pandemic towards physical modes
(B)/ of payments is giving rise to a new category (C)/ of digital payments spends which (D)/ are
‘contactless’ in nature, say industry insiders (E).

Options :

1.D

2.C

3.B

4. A

5. No error

Answer : A

Question No. 29

He is so sensitive that all his friends have to look on eggshells around him.
Options :

1. work on eggshells
2. walk on eggshells
3. wait on eggshells
4. wish on eggshells
5. No improvement required

Answer : walk on eggshells

Question No. 30

The employees there still have power to wake with their feet by leaving to join smaller companies.
Options :

1. write with their feet

2. talk with their feet

3. vote with their feet

4. ask with their feet

5. No improvement required

Answer : vote with their feet
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Numerical Aptitude

Question No. 31

Selling price of an article after a discount of 25% is Rs 450. If cost price is Rs 320 then marked
price is what percent more than cost price of article?

Options :

1. 92.5%

2. 74.5%

3. 87.5%

4. 83.5%

5. None of these

Answer : 87.5%

Question No. 32

Sum of two digits of a two digit number is 11. When digits of the number are reversed then number
formed is 45 more than the original number. Find the original number.

Options :

1.65

2.56

3.83

4.38

5. None of these

Answer : 38

Question No. 33
A alone work for 6 days then left the work and B alone finishes remaining work in 12 days. If ratio of

time taken by A alone to B alone to finish work is 3:2. Find time taken by B alone to do the work.
Options :
1. 12 days
2. 16 days
3. 24 days
4. 18 days

5. None of these
Answer : 16 days
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Question No. 34

Average of present age of A and C is 29 years and C is 8 years younger than B. Ratio of present
age of A to present age of B is 6:5. Find present age of B.
Options :

1. 32 years
2. 36 years
3. 28 years
4. 30 years
5. 16 years

Answer : 30 years

Question No. 35

Ratio of distance covered by boat in upstream to downstream is 4:3. Time taken in downstream
and upstream is 2hr and 4 hr respectively. If speed of boat in still water is 15 km/hr then find speed
of stream.

Options :

1. 2 km/hr
2. 3 km/hr
3. 5 km/hr
4. 6 km/hr
5. None of these

Answer : 3 km/hr

Question No. 36

800 544 416 352 ? 304
Options :

1.324

2. 300

3. 308

4. 320

5. 328

Answer : 320

15 ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams
For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




FCI Manager 2019 Previous Year Paper

Question No. 37
1112.114317.6227?

Options :

1. None of these
2.32.4

3.275

4.24.5

5.27.6

Answer : 27.5

Question No. 38
1211216271234

Options :
1. 347

2.251
3.281
4.321
5. 247

Answer : 247

Question No. 39
1691126 ?912

Options :
1.112

2.82

3.96

4.92

5. 102
Answer : 112

ixam
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Question No. 40
48 247218907

Options :
1.9

2.12
3.21
4.15
5.18

Answer : 15

Question No. 41

Number of male employees who are married is how much percent more/less than number of
female employees who are unmarried?

Options :

1. 20%

2. 25%

3. 15%

4. 10%

5. None of these

Answer : 20%

Question No. 42

What is the average of number of male employees who are unmarried and number of female
employees who are married?

Options :

1. 260

2.245

3.310

4.210

5.225

Answer : 310
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Question No. 43
What is the difference between number of employees who are married (male + female) and
unmarried (male +female)?

Options :

1.100
2.90
3. 60
4. 80
5.120

Answer : 80

Question No. 44

If in 2018, number of female employees who are unmarried reduces by 20%, find number female
employees who are married in 2018 (consider total number of female remained constant)?
Options :

1. 360

2. 340

3. 350

4. 370

5. None of these
Answer : 360

Question No. 45

What is ratio between total numbers of employees who are unmarried to total number of female
employees who are married?

Options :

1.17:9

2.17:19

3.9:17

4.19:17

5.11:13

Answer : 19:17

18 ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams
For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




- o
: IXam
FCI Manager 2019 Previous Year Paper

Question No. 46

A mixture contains wine and water in the ratio 5:1. On adding 5 litre of water, the ratio of wine to
water becomes 5:2. The quantity of wine in the mixture is?

Options :

1. 20 lit

2.221it

3. 24 1it

4. 26 lit

5. 251it

Answer : 25 lit

Question No. 47

Difference between CI and Sl on a sum for 3 year at 20% p.a. is 176. Find the simple interest on
the sum after 2 years at 10% p.a.

Options :

1.225

2.275

3.250

4. 300

5. 350

Answer : 275

Question No. 48

A, B and C started a business together with Rs 12,000, Rs 12,000 and Rs 8,000 respectively. B
worked only for ‘x’ months while C left the business ‘X’ month before the completion of year. If out
of annual profit of Rs 3200, ‘A’ got Rs 1800, then find the value of X'.
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Options :
1.2
2.8
3.6
4.4
5.5

Answer : 4

Question No. 49
Pipe A and Pipe B can fill a cistern together in 18 minutes. Pipe B is 50% more efficient than pipe
A. Find the capacity of cistern, if it is given that pipe ‘A’ fills the cistern at speed of 6 litre/minute.

Options :

1. 150 lit

2. 225 it

3. 240 lit

4. 180 lit

5. 270 lit
Answer : 270 lit

Question No. 50

Three natural numbers are given. If sum of average of any two numbers and the remaining third
number is 56, 46 and 50 respectively, then find the sum of given three numbers.

Options :

1.70

2.72

3.74

4.76

5.78

Answer : 76
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Question No. 51

Number of article sold by A on Friday is what percent of total number of article sold by D on all the
days?
Options :

1. 20%
2.12.5%
3.22.5%

4. 37.8%

5. 28.28%
Answer : 22.5%

Question No. 52

What is the ratio of number of article sold by A and C on Wednesday together to the number of
article sold by B on Friday?
Options :

1.74

2.2:7

3.7:11

4.5:11

5. None of these

Answer : 7:4

Question No. 53

What is the difference between average number of article sold by B and D on all the four days?
Options :

1.21

2.19

3.24

4.18

5.11

Answer : 11
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Question No. 54

Total number of articles sold by A and B together on Saturday is approximately how much more or
less than total number of articles sold by C and D together on Wednesday?

Options :

1.25

2.33

3.12

4.8

5.19

Answer : 12

Question No. 55
Find the average number of articles sold on Friday.

Options :
1.104

2.166

3.128

4.115

5.120
Answer : 115

Question No. 56

[.5x2 - 10x-15=0
II.5y2 +5y-10=0
Options :

L if x<y

L if x>y

if x2y

if X<y

g A W N P

. if x=y or the relationship cannot be established.

Answer : if x=y or the relationship cannot be established.

22 ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams
For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




- o
: IXam
FCI Manager 2019 Previous Year Paper

Question No. 57

.2y +13y+15=0

1. 2x°+ 11 x+12=0

Options :

l.Ifx>y

2. Ifxzy

3. Ifx<y

4. Ifx=<y

5. If x = y or the relationship cannot be established

Answer : If x =y or the relationship cannot be established

Question No. 58

l. 5% + 22x + 24 =0
Il. 6y*+ 3y -45=0
Options :

L if x<y

L if x>y

if x2y

if xsy

g A W N P

. if x=y or the relationship cannot be established.

Answer : if x=y or the relationship cannot be established.

Question No. 59

[.x2-33x+270=0
Il.y2- 41y + 414 =0
Options :

1.if x>y

2. if xxy

3. if x<y

4. ifx sy

5. if x=y or the relationship cannot be established

Answer : ifx<y
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Question No. 60

l.8y*+ 10y -25=0

IIl. 12x* - 31x + 20 =0

Options :

lifx>y

2.iffx2y

3.ifx<y

4.ifx<y

5. if x =y or the relationship cannot be established

Answer:ifx2y

Question No. 61

Rajdhani Express crosses a platform and a bridge in 16 and 30 seconds respectively. The speed of
the train and length of the train are 54 kmph and 130 metres respectively. What is the length of
platform is approximately what percent less than the length of bridge?

Options :

1. 66%

2.81%

3.57%

4. 52%

5. None of these

Answer : 66%
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Question No. 62
A laptop costs 20 times the cost of a headphone. On the laptop there is a profit of 10% while the
total profit on selling the headphone and the laptop is 20%. If there is a profit of Rs. 13,200 on
selling the headphone then find the cost price of the laptop.
Options :
1. Rs. 1,10,000
2. Rs. 1,20,000
3. Rs. 90,000
4. Rs. 1,00,000
5. None of these

Answer : Rs. 1,20,000

Question No. 63

A rectangular plot has an area of 490 m2. If the length of the rectangular plot is 24.5 m. Find the
perimeter of the rectangular plot.

Options :

1.89m.

2.90m.

3.75m.

4. 73 m.

5. None of these

Answer : 89 m.
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Question No. 64
In a box there are 8 red, 7 blue, and 6 green balls. One ball is picked up randomly. What is the
probability that it is neither red nor green?

Options :

1.7/9

2.1/5

3.1/3

4.1/7

5. None of these

Answer : 1/3

Question No. 65

Out of three positive numbers, the ratio of the first and the second numbers is 3:4 that of the
second and the third numbers is 6:7 if the product of the second and the third numbers is 6048.
What is the sum of three numbers?

Options :

1.105
2. 130
3. 202
4. 210
5. 67

Answer : 210
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Reasoning Ability

Question No. 66
How many boxes are placed between box U and box X?

Options :

1. One

2. Two

3. Three

4. None

5. Cannot be determined

Answer : Two

Question No. 67
Which of the following boxes is placed just above X?

Options :

1.U

2.V

3w

4. Data insufficient
5. None

Answer : W

Question No. 68

Which of the following box is placed in shelf number 4?
Options :

1.X

2.Y

3. W

4.V

5U

Answer : Y
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Question No. 69
Which Box is placed at the bottom?

Options :
1.V
2. U
3. X
4.Y
5 W

Answer : V

Question No. 70
Which of the following box just above box Y?

Options :

1. BoxV

2. Box X

3. Box U

4. Box W

5. None of these

Answer : Box U

Question No. 71
How many such pairs of letters are there in the word ‘CALCULATED’ as many letters between
them as in the English alphabet series?

Options :

1. One

2. Two

3. Three

4. None

5. More than three

Answer : Two
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Question No. 72

If all the letters in the word FLAVOUR are arranged in alphabetical order from left to right in such a
way that one vowel is arranged followed by one consonants, then second vowel is arranged
followed by consonants and so on. How many letters are there in between F and R after the
arrangement?

Options :

1. Three

2.0ne

3. None

4. Two

5. Five

Answer : Three

Question No. 73

If in the number 587683529, 5 is added to each of the digit which is less than four and 2 is
subtracted from each of the digit which is greater than four then how many digits are repeating in
the number thus formed?

Options :

1. One

2. Two

3. None

4. Four

5. Three

Answer : Three
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Question No. 74

Which of the following elements should come in a place “?’?
DX14 FV16 HT18 JR20 ?

Options :

1. OP26

2. OR22
3.LQ24

4. LP22

5. None of these
Answer : LP22

Question No. 75

If all the letters in the word ‘SELENIUM’ are arranged in alphabetical order from left to right, then
how many alphabets remains same in their position?

Options :

1. Three

2. One

3. None

4. Two

5. four

Answer : One

Question No. 76
Who among the following second youngest person in the group?

Options :

1.V

2.2

3.V

4. W

5. None of these

Answer : W
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Question No. 77
Who among the following sits third to the right of V?

Options :
1.7
2.Z

3. X
4.S

5. None of these

Answer : Z

Question No. 78
V was born on which of the following date?

Options :
1.7
2.5

3.10
4.25

5. None of these

Answer : 7

Question No. 79
Which of the following statement is not true about Y?

Options :

1. Y sits third to the right of the one who was born on 5
2. Y was born on 10

3. Z sits second to the left of Y

4.Y is facing south

5. None is true

Answer : Y was born on 10
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Question No. 80
How many persons sit between U and X?
Options :
1. One
2. Two
3. Three
4. More than four
5. None

Answer : More than four

Question No. 81

Statements:

No cricket is hockey.

All cricket are bats

Some balls are bats

Conclusions:

I. Some balls are not hockey.

[l. All balls can be cricket.

[ll. All bats being hockey is a possibility.

Options :

1. Only | follows

2. Only Il follows
3. Only Il follows
4. All follow

5. None of these

Answer : Only Il follows
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Question No. 82
Statements:
All shoes are socks.
Some shoes are polishes.
No black is polish.
Conclusions:
|. Some shoes are blacks.
[I. No shoe is black
[ll. All shoes being blacks is a possibility.

Options :
None follows

only Il follows

1.
2.
3. only Il and either | or Il follow
4. only | follows

5.

only either | or Il follow

Answer : only either | or 1l follow

Question No. 83
Statements:

Some Files are Folders.
Some Folders are Tools.

All Titles are Folders.
Conclusions:

I. Some Tools are not Titles.
II. Some Files are Titles.

I1l. Some Folders are not Files

%
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Options :

1. Only | follows
2. Only Il follows
3. Only Il follows
4. None follows
5. None of these

Answer : None follows

Question No. 84
Statements:

Some cups are plates

All spoons are bottles.

No plate is a spoon.
Conclusions:

I. Some cups are not spoons.
II. Some bottles are cups.

[ll. All spoons is being cup is a possibility.
Options :

1. Only I and Il follow

2. Only Il follows

3. Only I follows

4. Only | and llI follow

5. None of these

Answer : Only | and Il follow
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Question No. 85

Statements:

Some vegetables are tomatoes

Some tomatoes are spinaches

No spinach is a vegetable

Conclusions:

I. All tomatoes are vegetables

II. All spinaches is being tomatoes is a possibility
lll. All vegetables is being tomatoes is a possibility
Options :

1. Only | follows

2. Only Il follows

3. Only Il and 11l follows
4. All follow

5. None of these

Answer : Only Il and lll follows

Question No. 86
Statements: TV=W > X =Y
Conclusion . V>Y Il.S=X
Options :

1. If only conclusion I follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion | nor Il follows.
5. If both conclusions | and Il follow.

Answer : If only conclusion | follows.
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Question No. 87

Statements: D=E=2F>GJ
Conclusion I. FE

Options :

1. If only conclusion | follows.

2. If only conclusion II follows.

3. If either conclusion | or Il follows

4. If neither conclusion I nor 1l follows.
5. If both conclusions | and Il follow.

Answer : If neither conclusion | nor Il follows.

Question No. 88

Statements: B

Conclusion I. F

Options :

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion I nor 1l follows.
5. If both conclusions | and Il follow.

Answer : If either conclusion.| ordl follows

Question No. 89
Statements: MN >R < S

Conclusion.Q=MIl.R>Q
Options :

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows

4. If neither conclusion | nor Il follows.
5. If both conclusions | and Il follow.

Answer : If neither conclusion | nor Il follows.

ixam

0?6

36 ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams

For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call)




FCI Manager 2019 Previous Year Paper

Question No. 90
Statements: E<C,B>E,D>A=F, B
Conclusions: .D>CI.B=<C

Options :

1. If only conclusion | follows.

2. If only conclusion II follows.

3. If either conclusion | or Il follows

4. If neither conclusion | nor Il follows.
5. If both conclusions | and Il follow.

Answer : If neither conclusion | nor Il follows.

Question No. 91
Who among the following sits second to the right of S?

Options :

1.M

2.T

3.0

4. P

5. None of these

Answer : T

Question No. 92
Who among the following sits opposite to Q?

Options :
1. M
2.R
3. T
4. N
5.0

Answer : O
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Question No. 93
Who among the following sits immediate right of N?
Options :

1.R
2.Q
3. M
4. T
5. None of these

Answer : R

Question No. 94
Four of the following five are alike in a certain way based and from a group, find the one that does
not belong to that group?

Options :
1.N
2.R
3.Q
4. M
5P

Answer : M

Question No. 95
How many persons sit between M and P when counted to the right of M?

Options :
1. Two

2. Three
3. Four
4. Five

5. None

Answer : Four
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Question No. 96
Who among the following person like Kiwi?
Options :

1. None of those given as options
2. The one who was 56 years old

3. Meesha

4. Disha

5. The one who was born on 2000

Answer : The one who was born on 2000

Question No. 97
What is the age of the one who like Grapes and the one who like Apple respectively?

Options :

1.7,31

2.70, 46

3. 35,59

4. None of those given as options
5.59, 35

Answer : 59, 35

Question No. 98
Which of the following is Correct?
Options :

1. Shikha is the second youngest person

2. None of the given options are correct

3. Avinash is Younger than Meesha

4. The one who like Mango and the one who like Banana are born in odd number year
5. Avinash was born on 2011

Answer : The one who like Mango and the one who like Banana are born in odd number year
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Question No. 99

What will be the sum of ages of the youngest and the eldest person in the group?

Options :

1. 101 years

2. 77 years

3. 105 years

4. 97 years

5. None of those given as options

Answer : 97 years

Question No. 100

Avinash like which of the following Fruits?
Options :

1. Kiwi

2. Grapes

3. None of those given as options

4. Papaya

5. Banana

Answer : Grapes

*For Solution please visit the Link

https://www.ixambee.com/gmts/654516d1b4df6917094de807156adcl4?reattempt=&back
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